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(iii) Appropriate Government T TN
(iv) Worker EE e

(v) Women Worker Higa LS
(vi) Occupier SAfersSTa

(vii) Bonded Labour TogAT D
(viii) Minimum Wages

(viii) The year of Factgory Act..

Section-B
(Short Answer Type Questions)

Note: Answer any 4 questions. Each answer should not
exceed 200 words. Each question carries 10 marks.

4x10=40
gue-9
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Ao el O A & IO AR ST A X B A
200 9 # TR BT TR T 10 97 1 ¥
2. Explain the concept of Labour welfare in India.

G G BT F GHed P A i

3 What are the different theories of labour welfare?
Explain any one with its merit and demerits.
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4. Explain the role of Labour Welfare officer in a factory.

(2)

Note:

T FREN § HT FE AR B B A
I
Write a short essay on Child Labour Act, 1986.

oIt 4 SRR, 1986 T ae e el H
Define and explain the following terms:

(i) Environmental Pollutant

(i) Occupier

(iii) Environmental Pollution

wﬂﬂm_w.mﬁ_w:mw"

(iii) TETEeT IgueT
Explain the causes and effects of soil and noise
pollution. .
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What are functions and powers of Inspector under
the Mines Act, 19527
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Explain the working hours of adults.

aqeR & H B U Bl FHARC

Section-C
(Long Answer Type Questions)

Answer any two questions. You have to delimit your
answer maximum upto 800 words. Each question

carries 20 marks. 2x20=40
3) P.T.O.



